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Attempt all guestions.
All questions are compulsory.

Section A carries 85 marks and Section B 20 marks.
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SECTION A (W@vs &)

l. (a) Attempt- any five. Mention the following whether :
they are. True or False. - ~(True/False)

g dra i el o ¥ wW W IED
frftag

(i) Logic is a study of method§ for evaluating

arguments.
FeSaren gl @ A W TR W ST R

(i) ‘All songs are melodious’ and ‘some songs

are melodious’ are contrary to each other. 7

w & Bl '

(iii) Contraposition of ‘I’ proposition is valid.
| s &y Au 3

(iv) The universal propositions do not have
existential Import. '
e v W e Al A aar 1

(v} In the proposmon “No' cats are ‘wild® both
subject and predicate term are distributed.

g W Rfwd S 6 Y e ¥ S
Ik g o = B # o
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(vi) A valid argument can have true premises and
false conclusion.
vE AR W IR A v ok Frowd s
Bl 3t

(vi) In categorical syllogism in figure HI the

conclusion must be universal. (5x1=5)

ﬁﬁawﬁgﬁaﬁﬁqa@%ﬁﬁmmm
TR |

(b) Fill in the blanks with appropriate options. Do any

five,

IIE e @ wy R w9 of S 2E
e iR
(1) In categorical syllogism when both the
premises are universal and conclusion is
particular there is ______fallacy.

(fallacy of Exclusive premises, fallacy of

Mlicit major; Existential fallacy)

Frde =gl ¥ o O smum A wdend @
IR Frad s A W A oA E
(vfaen STUR ar wEd, Wer v aedy,
G e )
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(i) Conversion of ____.___ proposition is ‘not
valid. . ' (A, E, I, 0)

R wReE 8 3(AL B, 1, 0)

(iii) The standard form of ‘Few méngoes aré ot
yellow’ is. (I, O, A, E)

‘wF TF aW O A 2w e R dwm
(L O, A, E)

(iv) Of two proposition with same subject and
predicate when one is universal affirmative .
and other is particular Negative then they |
are .. to each other. . _
(contrary, sub altern, sub contrary A

contradictory)

mammwﬁw 3 Rda & R

v sy adard GHe 8 IR 780 siwsdt
Mo A WD ¥

(Rala, Sofm, FHRede, =mEe )

{(v) Education is a form-of _______ Inference.
(Mediate Immediate)

ST S W T YR R
(zmafea, m@a)
(vi) In obversion there is always the of

the predicate.
(contrary, sub altpern, contradlctory)




270 . 5
wRad ¥ s Rig w= R
| (Rda, S, =)

(vii) Middle term mustbe ________in syllogistic

argument.
{Undistributed, Distributed,
None of the above)
(5%1=5)
s g g Y amm e S

(7=, =, JWEs A @ o =)

(c) Attempt any five. The answer should be in two

or three lines. Each answer carries 2 marks.
aﬂﬁq‘haﬁﬁmwﬁm@wﬁﬁaﬁfﬁ%na
IW R 2 Iw T
(i) Give the contraposition of ‘E’ proposition.
B e @ AR W R
(i) Why *O’ proposition cannot be converted ?
‘0* v w1 9Radw = AE S ?

(i) What is the significance of middie term in
the categorical syllogism 7

wﬁw&awmgﬁaﬁ'wmwa‘ﬁwﬁm
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(iv) When ‘I’ proposition is true what is the truth
“value of corresponding A proposition and
why ?
‘I’wﬁa&rwﬁ%ﬁ‘r A viawfs = =
@ W o § Ik w7

{v) In what figure or ﬁgures if any, can a valid
standard-form categoncal syllogism have two
particular premises ?

fre sl o g ¥, ok &, @ u A

mi%mﬂmwam%? !

(vi) Is a proposmon language neutral ?

T yiaEfa, s Pt o @ 7
‘ (vii) Why the c'orilver‘sion of ‘A’ js ;I.’ ?
| _(viii) State the obverse o\f‘rt‘he follow'ing:
o T TR A -
(a) All jasmine flowers are white.
o e B o e @ R F
(b) Some books are‘,expensive.

wO TED HeWm F B
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(ix) Reduce the following into standard form.

rafafra = wwr IR H trﬁ’aﬁ?r w1

(a) Agarbattis are fragrant.
Tt gtuE B 3

(b) Orchids are not beautiful flowers.
Af¥ew B FF R A6 B

(x) Define the fallacy of Illicit major.
T 7T AN R - AR |

-(xi) Why the middle term has to be distributed

once ?
I 92 W UH AR AT w [ A ?

(xti) Are logicians interested in valid arguments

only ?
T AR Pae g ¥ R W @R 7

{xiii)) What do you understand by Quality and
Quantity of a proposition ?

ﬂfﬁﬁ%gwaﬁfwf?ﬂm%mwm
C®?
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(xiv) Name the four opposition relation explained
by Traditional square of opposition.

TeRRE Ry - T TR e 4 R st
AW TEHY |
(xv) Define Deductive Reasoning.  (10x2=20)

mmﬁmml

2. Answer any three question.
& dm o @ s R )

(i) How the Modern appioach to opposition of ~

proposition is a jolt to the Traditional square of.
opposition ? Explain.

smyfrer R veTTTE Rd-w @ e v T
e wR 2 7 e AR

(i), Differentiate between Mediate Inference and
“immediate inference with illustrations.

IeraRd vd =ERd ague A Jemen wRe s
w1 | '
(iii) Explain the rules of Obversion with examples. .

W @ P o Sl i are AR |
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(iv) Write a note on Distribution of Terms. |
w& & anfw W e fewroh fofaw

(v) Define figures and Mood in categorical syllogism.
Give Jlustrations. (3x5=15)

Prier e ¥ R e S R AR AR
et Afere ‘

3. Put any ome of the following into standard form
categorical syllogisro and indicate its figure and Mood.

Do any one.

ﬁmﬁ%ﬂiﬁ@gﬁﬁﬁaﬂ%mmﬁﬁa
e ¥ oRaffa A ok SE agl sk sme
EGELE

(a) No musicians are astronauts; all musicians are
baseball fans; consequently no astronauts ar¢
baseball fans. '

HE N R ke o 78 2, el Wiawr Sed
® T 2 Fenda B o ofaRe aed JueEta W &
B '

OR /@

Some reformers arc fanatics, so some idealists
are fanatics, since all reformers are idealists.
(4+1+1=6)

P.T.O.




270 10

%’,aa%ﬂ%ﬁmmﬁafasﬁ%l

(b) Test the Validi'ty/lnvalidity of any two of th
following moods,

ﬁwﬁﬁaaﬁﬁﬁﬁa‘tma?faﬂ%um/ﬁum

9qer e

IEO fig IV IEO si#R IV

AAl fig I AAl 3R ] |

AEE fig 1T " AEE st 11 - (2x2=4)|

SECTION B (wvs )

4. (2) Do any five, ‘

Identify the fallacy committed in the sentence, .
name it and give reason in one’ line.

W de @R

(1) Since the class has no questions concerning
the topics discussed in the class, the class is
ready for test.

iﬁmﬂﬁaﬁwaﬁﬁaﬁwﬁﬁsﬁaﬁﬁ
T S g 2, e vl @ fo dag 2
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(ii) Noted psychological Dr. Edward Jones

recommends that you buy Ford Fiesta Car.
Therefore we must buy Ford Fiesta.

ﬁ@anﬁaﬁmmomﬁmaﬁm%ﬁ
e i e W @ ) g T B e @
ﬁﬁﬁm@m

(iii) I ought always to do what is right. 1 have a
' right to say what 1 think. Therefore 1 ought
always to say what I think.

@ T @ wen e A IR ¥ A
o gier 3 W ¥ | g Fq. T TAW TE@
weA ARy W X A §

(iv) anh .player of this basket ball team is an

exccllent athlete. Therefore the team as a

whole is excellént.

dede dfa A @ S H IAT Faad A tEE
2@ 9@ AW A A 2

(v) Can you send a person'to jail, the father of
five children who lost their mother only two

weeks ago.

T gE @R W W o W 4 eed
%,@ﬁaﬁwﬁm%sﬁfaﬁf%ﬁm

A B el W W &R Ran
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(vi) Napoleon became a great emperor beca
he was so short..

|

_ (vii) Have you finatly started taking your stud
seriously ? - (5x2=1

I wwmmﬁmar‘m
= @7

(b) Explain two fallacies w1th examples taking
-'from each set.
(i) Failacy of Composition
Fallacy of Equivocation
(ii) Fallacy of Argument against a person
Argument from Ignorance (2><S 1]
s @ Ha%ﬂﬁ’r & Jewww Wi e DR |
4 A F.vF A |
(i) @ et
=
FATdE TN
(i) wohs aaAy
' Jrera

AFTEE ADHaT
(1000)****



